Subtraction
methods



Subtraction - Reception

10 grapes, you
eat one, how
many left? 9.

And another? 8.
Another, 7 . ..

10 grapes,
you eat two.
How many

1. Establishing take
away (Using concrete
objects)
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2. Show their calculation on a C.\":‘:m
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The difference is?

numbered track

“Sophie has 5 sweets. She eats 2 of
them. How many sweets are left?”

/\/\ 3. Beginning to
look at
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Subtraction — Year 1

1. Counting back along a
number line when taking
away (Still using
concrete objects to link
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0-1=9 when necessary)
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2. Finding the difference between 3 and 5
(Using concrete objects and visual pictures)



Subtraction — Year 2
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Subtraction — Year 3

1. Use anumber line, counting on to the next multiple of 10

84 — 56 = +4 +20 .
56 60 80 84
2. Vertical number line 3. Leading to expanded vertical
showing the same layout counting on from the

smaller to the larger
56

—56

+ 4 to make 60
» +20 to make 80

+ 4 to make 84
+4 T EPPATN

84

60




Subtraction — Year 4

1. Vertical number line for HTU-TU 2. Leading to expanded

625 — 48 = vertical layout counting on
i from the smaller to the
+2 larger
50 625
+50 - 438
100 + 2 (50)
+50 (100)
+500 —&-— — +500 (600)
e +20 (620)
600 / +5 (625)
+20
+5

625 3. As above with HTU - HTU



Subtraction — Year 5

1. Compact counting on, 3. Use number lines to initially
using known complements count on with decimals
to 100 (Go back to number 7.6 -58=

lines if necessary)

756 I +0.2

-281 6.0 -
+19 (300) +10 o

+400 (700) .
+56 (756) ;Z +0.6

475
1

+ 0.2 (6.0)
+ 1.0 (7.0)
+ 0.6 (7.6)

1.8

2. As above with
ThHTU - ThHTU




Subtraction — Year 6

1. Decimals with a similar
number of decimal places

2792
—1856

+0.0 4 (18.60)
+0.40 (19.00)

+1.00 (20.00)
+7.92 (27.92)

9.36
1

2.

Decimals with a dissimilar number
of decimal places requiring zero
placeholders to be inserted

421.3
- 82.57

+0.03 (82.60)
+0.40 (83.00)
+17.00 (100.00)

+321.30 (421.30)
338.73

When returning to a written calculation at this stage, e.g. to revise or to
extend to decimals or to numbers with more digits, it is a good idea to start
again with informal, expanded methods. This helps to retain their
understanding of the link between different methods and makes it easier for
them to resort to the expanded method if they need to.



